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(COMMERCE)

1. Micro-Environment is also called as
(A) General Environment
(B) Economic Environment
(C) Operating Environment
(D) Political Environment

2. Which of the following institutions cannot be
included in the international financial and monetary
system?

(A) World Bank

(B) WTO

(C) Bank for International Settlement
(D) IMF

3. The process of importing goods and services for
the purpose of re-export is known as

(A) Leasing
(B) Export
(C) Countertrade
(D) Entrepot trade

4. Invisible exports refer to the export of
(A) Services
(B) Unrecorded goods
(C) Prohibited goods
(D) Goods through smuggling

5. The theory of Absolute Cost Advantage was
given by
(A) David Ricardo
(B) Adam Smith
(C) F. W. Taylor
(D) Ohlin and Hecksher

6. Which of the following measures is not likely to
help in improving India’s Balance of Payments
Position?

(A) Encouragement of import substitution
(B) Imposition of higher duty on exports
(C) Imposition of higher duty on imports
(D) Devaluation of Rupee

1. RCF-REER o917 93 9=
(A) e A=l
(B) wigftaifes wAfca=t
(C) JIfsfs #fd@=l (Operating Environment)
(D) Ao AR

2. sl @R afepml wresifes e ¢ @ifds
<=4 (financial and monetary system) ST89G 2 T 1l 2
(A) f%31kF (World Bank)
(B) feaferey ezl (WTO)
(C) wwsifes wAF kT (Bank for
International Settlement)

(D) Wgeifos Nifd<s 7<gl (IMF)

3. 9l @R SAREAR AR Sy oo @3
AR orsmif eifeics <=1 23—

(A) ZTemifE

(B) 3

(C) #II¥5! Jfiey (Countertrade)
(D) @fGe(G Arfees (Entrepot trade)

4. Al A FETC0 @R
(A) ~ifacEal
(B) S /ey
(C) FRm 2y
(D) (GRIBEACTT SC 2ioly 2=t

5. Absolute Cost Advantage TG (F 2SI ?
(A) David Ricardo
(B) Adam Smith
(C) F. W. Taylor
(D) Ohlin and Hecksher

6. o3 e AT S @ING ©Iced Balance of
Payments Position-3 7f® ¢ AR F(H ?
(A) SImif 2fegI#mE SA=mE
(B) G e217 WS w Sci=lel
(C) TmIfFE e Sl wF Sl
(D) TRARRIGH ST
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7. Each member of IMF is assigned a quota
expressed in
(A) Dollar
(B) Member Country’s Currency
(C) Special Drawing Right
(D) Pound

8. Which among the following countries with which
India does not have Free Trade Agreement (FTA)?
(A) South Korea
(B) Japan
(C) Brazil
(D) Thailand

9. Where is the South Asian University, jointly
established by eight SAARC member states situated?
(A) Islamabad
(B) Kathmandu
(C) Dhaka
(D) New Delhi

10. According to the FDI policy of India, in which
of the following areas 100% FDI is not allowed in
equity by automatic mode in India?

(A) Construction Development Project
(B) Industrial Park

(C) Private Security Agencies

(D) Maintenance and repair organisation

11. Given below are the two statements, one is
Assertion (A) and the other is Reason (R):

Assertion (A) : When a company earns profit
prior to its incorporation, it is
called Capital Profit.

: Capital Profit cannot be used
for distribution of dividend to
the shareholders.

Reason (R)

Choose the correct option:.

(A) Both (A) and (R) are correct and (R) is
correct explanation of (A).

(B) (A) is correct, but (R) is wrong.

(C) Both (A) and (R) are correct, but (R) is not
correct explanation of (A).

(D) (A) is wrong, but (R) is correct.

7. IMF-93 2if$ oo ey g @it Mo
AT
(A) Telg-¢
(B) AWM A
(C) Fog (oleTE SHIA (Special Drawing
Right)
(D) “ATE-9q

8. T3 (& @R A BRced J& lfeired pie
Teolifre Z3fe 2
(A) wFFe ifaa
(B) Gl
(C) alfe=
(D) Q=[S

9. 5 AF W (exF 7 dfefe South Asian
University (R SRZ® 2
(A) DRI
(B) FIowIIg
(C) v
(D) g ffer

10. SO 2o @m [l Sife srpiE, Fow
S @Mt G 100% [m [iNae Fasiire
SerFeI 3EHre Safe (rex &7 i ?

(A) fostiet it erea

(B) P& A1

(C) aizres faistet 7ikg!

(D) T G (RS AL

11. S 93 [3E (A) =ik 9F6 I& (R) @mexl
IR |
R3f© (A) 2 Incorporation-43 TS (FICAI
company IM C IFE O G2
oMo Capital Profit &1 27 |
gfe(R) ¢ Capital Profit (CIRCRFSIRME N
FfI TREICE 95 21 TR 1|
FIF [Fals A5 e 8
(A) (A) @ (R) 6% o 9= (R) e (A)-ax
Ao I |
(B) (A) 55, 5% (R) A5 731 |
(©) (A) @k (R) Wiz s, fFe (R) Rl
(A)-93 A3 gfe 77|
(D) (A) A= 77, 58 (R) AT |
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12. Given below are the two statements, one is
Assertion (A) and the other is Reason (R):

Assertion (A) : ‘Material Yield Variance’ is that
portion of direct material usage
variance which is due to the
difference between standard
yield and actual yield obtained.

: Yield Variance arises due to
wastage of material during
the process and standard
material yield is determined
by substracting the standard
wastage from the standard
quantity of material.

Reason (R)

Fromthe following options, select the correct one:

(A) Both (A) and (R) are true, and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(C) (A)is true, but (R) is not true.

(D) (A) is not true, but (R) is true.

13. Margin of Safety of acompany can be improved
by
(i) reducing the fixed cost and variable cost.
(ii) increasing sales volume and sales price.
(iii) increasing stock of materialsin the expectation
of price rise.
(iv) changing the product mix to increase
contribution.

Choosethe correct alternative fromthe following:

(A) (), (i) and (iii)

B) (), (ii) and (iv)

(©) (), (iii) and (iv)

(D) (i), (iii) and (iv)

14. Financial statements provide a true and fair
view if

(A) itis free from any material error and bias.

(B) itis prepared using the appropriate policy
and applicable accounting standards.

(C) itis prepared in the format prescribed by
the regulator, or, in the absence of a
prescribed format, itis prepared in amanner
that facilitates analysis of the financial
position and the performance of the
reporting enterprise.

(D) All of the above
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12. 95 @3 RIC (A) 9R @F6 Jf& (R) el
IR |
R3f&(A) ¢ ‘Material Yield Variance’-(
‘Direct Material Variance’ -3 9%
21 (e 27 @R @b standard
yield €<R actual yield-49 ©FI
BT (ren =
& (R) ¢ TRoAMER W (@ JIGNIER S5
T OIF TR yield variance ¥
@R standard material yield sief«ll

FIE T FIGNCED standard
quantity (2P standard wastage
e =<1 = |
RIS 3o (2, FFF TG s F ¢
(A) (A) @k (R) 762 7%, @3z (R)
R3S (A)-a3 7= I |
(B) (A) @3k (R) uf63 #fo=w, &€ (R)
3fe (A)-97 75w gfe 7711
(©) (A) 7Mo%, &g (R) #ds 731
(D) (A) A= 77, &g (R) 7=
13. @3 3FF ‘Margin of Safety’ TFe T ToIT 241
(i) Fixed cost @<} Variable cost St |
(i) Tfe= s ¢ ey e |
(iii) TR SRR BTN e AAfstlel AT |
(iv) Product mix #NfF5¢7 Contribution IS |
RIS Ff5 (U FIF TG Brarel 75 ¢
(A) (1), (1) @R (iii)
B) (@), (i1) @R (iv)
(©) (1), (ii1) @R (iv)
(D) (i), (ii1) @R (1v)

14. @i R3S @zl 3w A q TRy o=zl
W I

(A) @I e @ @<k oPwsite (e @3 [gfe
1E 2 |

(B) Tolge TS @ Af3F ‘Accounting Standards’
€3 eoF fofe)

(C) «ft fes gz f4ifee Rener Tl = wigat
@ft @smel o 2@ @ «fp aAfewies
oifds o gR I TR [
ARy A |

(D) ST AR AT
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15. Match the items of List-I with that of
List-1I and select the correct answer:

List-1 List-11
(a) Ind AS 7 (i) Leases
(b) Ind AS 16 (ii) Business
Combinations
(c) Ind AS 17 (iii) Statement of Cash
Flows
(d) Ind AS 103 (iv) Property, Plant and
Equipment
@ M () (@
(A) Gv) (@) @a) (@)
B) @) av) (@) 31D
© Gy (@ G 3Gv)
O ® G (@Gv) ()

16. Purchase Return should be vouched with the
help of
(A) Debit Notes
(B) Credit Notes
(C) Goods Inward Book
(D) Cash Book

17. In which of the following cases, the reporting
requirement of the auditors was amended from ‘True
and Correct’ to “True and Fair’?

(A) Royal Mail Steam Packet Co. Case
(B) Kingston Cotton Mills Case

(C) London and General Bank Case
(D) London Oil Storage Case

18. Activity Based Costing (ABC) system may be
recommended for the firm

(i) which manufactures only one productinlarge
quantity.
(i) which incurs huge amount of overhead.
(iii) which incurs little amount of overhead.
(iv) where multiple products are manufactured.
(A) Both (i) and (ii) are correct
(B) Both (ii) and (iii) are correct
(C) Both (ii) and (iv) are correct
(D) Both (iii) and (iv) are correct
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15. ©fapLl-a7 3foa A ©fers-11-43 1 i

~ <
A 333 VG [Ib B 3

©lfer<e-1 oifera-1l
(a) Ind AS 7 (i) Leases
(b) Ind AS 16 (i) Business
Combinations
(c) Ind AS 17 (ii1) Statement of Cash
Flow
(d) Ind AS 103 (iv) Property, Plant and
Equipment
@ M (© (@
(A) av) @) a) @)
B) @) @av) @@ D)
© Gy @ @) @Gv)
D)y @ G av) (i)

16. Purchase Return-9d 2z (& FAE FI0eT
TN 23 2
(A) Debit Notes
(B) Credit Notes
(C) Goods Inward Book
(D) Cash Book

17. R @@ TR @R AdEee [l
W “True and Correct’ (A& ‘True and Fair’ B3
ENGIIECERE

(A) Royal Mail Steam Packet Co. Case
(B) Kingston Cotton Mills Case

(C) London and General Bank Case
(D) London Oil Storage Case

18. (I 4079 ABIF &) Activity Based Costing
RIS I SEE SRR
() @ 9 ofoly J2R 2IfRE T I

(i) @ PR SART J2L

(i) @ BF TARrR 73

(iv) @ B Sefer sty B F
(A) (i) 9% (i) 7=
(B) (ii) 9=k (iii) Al
(C) (ii) €% (iv) A=
(D) (iii) €% (iv) APF



19. XandY are partnersina firm sharing profits and
losses in the ratio of 3 : 2. Zis admitted as a new partner

with Vath share in the profit. The new profit sharing
ratio of X, Y and Z will be

(A) 3:2:1
B) 12:8:5
(C) 9:6:5
(D) 5:3:1

20. In which of the following cases, an existing

company is liquidated and a new company is formed
with the same shareholders?

(A) Internal Reconstruction
(B) External Reconstruction
(C) Amalgamation

(D) Absorption

21. Incaseof aninferior good, the income elasticity
of demand is

(A) Zero
(B) Negative
(C) Positive
(D) Infinity

22, Ifpriceelasticity of demand is zero, the demand
curve will be

(A) ahorizontal straight line.

(B) a vertical straight line.

(C) adownward falling straight line.
(D) an upward rising straight line.

23. If production function is P = 20 K*° L%, the
nature of returns to scale will be

(A) increasing.

(B) decreasing.

(C) constant.

(D) cannot be ascertained

X-7 06-11

19. X gR Y 30 SAMIfE WIE SRAME @3
e /S 19 3 : 2 S5 FCH A, TG SAMI ZAE
Z-(F (1971 T AR OIF V4 (4T 5oefies!) sire/=feq ol
(TSI 2 267 | GTH(G el a71S /5o ©ICo T 20

(A) 3:2:1
(B) 12:8:5
(C)9:6:5
D) 5:3:1

20. 9T Rupie @i SR 2@ SIEHs Tow
@A tofd 791 751 992 iRREreReE w1 9t
J A2

(A) Internal Reconstruction
(B) External Reconstruction
(C) Amalgamation

(D) Absorption

21. P BRI (Hq Hifzni SRere Zfogivimel
(A)
(B) elrere
(C) 4=
(D) ST

22. 3 SifzMI YEmere (Asre) Ffezermel % 23,
SR HifRAE 2@

(A) SZHR AR
(B) Targ AT
(C) TT=siS ez
(D) T AzeTCd

23. Ift Tesme wieews P = 20 KV L0 =3, ©orgee
QR #4Ffs 7@

(A) THEEA

(B) i

(C) &=

(D) fefar =t = =11
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24. Which is the other name that is given to the
average revenue curve?
(A) Profit Curve
(B) Demand Curve
(C) Isoquant
(D) Indifference curve

25. Which is the first order condition for profit of a
firm to be maximum?

(A) AC=AR
(B) AC =MR
(C) MR = AR
(D) MC = MR

26. Price discrimination will be profitable only if
the elasticity of demand in different markets in which
the total market has been divided in

(A) Uniform
(B) Zero
(C) Infinity
(D) Different

27. Monopolistically competitive market is
associated with the name of the economist—

(A) J. R. Hicks

(B) Chamberlin
(C) J. M. Keynes
(D) P. A. Samuelson

28. The key feature of oligopoly is
(A) product differentiation
(B) excess capacity
(C) interdependence of firms
(D) high profitability

X-8

24. 5T ST (FF e T A0 2
(A) eIl (-1
(B) wifzwi el
(C) FANTeAW @
(D) faeers @

25, (I TG Jo1e! FAEE I AT *1S (I 2
(A) TC I = 51T I
(B) 1% I = Al =
(C) il =T = 51T &%
(D) 2if$F 357 = A =7

26. (G IERE @ ey i o6 F91 W @
vifenE fRfegierrel Sioa NCol 2@ Jeneten Aot
B[E—

(A) 9T

27. qod SR mme W@ e TN G oA
ARSI AT AL Te—

(A) (@ o, 2
(B) SIFRMeE

(C) (. a3, (P&
(D) . . ARCEAY

28. Oligopoly-¥ 31 SRS
(A) TR SIToTre!
(B) T5€ TesAmeTwel
(C) Tesima 2fedimasias e A oaeieTel
(D) TW JerFETere!




29. The length of the discontinuous zone of the
marginal revenue (MR) curve corresponding to the
demand curve under the kinked demand curve model
depends on

(A) cost of production
(B) price

(C) revenue

(D) elasticity

30. Sales maximization hypothesis had been

introduced by
(A) Madrid
(B) Williamson
(C) Baumol
(D) Simon

31. Under the lease agreement, the lessee gets the
right to

(A) share the profits earned by the lessor.
(B) use the asset for a specified period.

(C) participate in the management of the
organisation.

(D) sell the assets.

32. “The optimal pay-out ratio for growing firms is
nil and declining firms is 100%”, is established by
(A) Gordon Model
(B) Walter Model
(C) Both (A) and (B)
(D) Neither (A) nor (B)

33. Match the following items of Lisz-I with that of
List-1I and select the correct option:

List-1 List-11
(a) Factoring Services (i) Working Capital
Financing
(b) Economic Order (i1) Receivable
Quantity Management
(¢) Commercial Paper (iii) Inventory
Management
Code:
@ M (©
(A) Gi) @) (D)
B) Gy @) @
© @ G i)
(D) @) @ Gi)

X-9
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29, (@IS BRI NOER CFq AfSF =9 @27
@ (discontinuous) ST (1K) Weq e Mok
fanefem e ¢
(A) Teome 5T
(B) Wi
(C) =¥
(D) Ffezsiel

30. A7 F&ifaaet afostm faaf e sEfke
(A) gy
(B) TRt
(C) 3

(D) AR

31. TER-pe SRR aFen 2ERIAF (Lessee)-Ad
S A
(A) TEREME (Lessor)-d3 SIfers sied Se |
(B) «fb % seiaa wey srrifes 92 |
(C) 2fSPER AR Sz |
(D) Fifex A |

32. > TN ARSDIET I (o1-STH SIgsire

#7 (Nil) @32 IR 2SI 100%—<3 «i=el

Afefre =7
(A) TG TS
(B) SAFGR NS
(C) (A) @R (B) TSF (TR
(D) (A) 93R (B) (@18 (T3 77

33. List-I-99 Item ST K List-11-99 Ttem &f&g

ReTael S5¢a Aova emafera Sy (A o< Tee e ¢

List-1 List-11
(a) Factoring Services (i) Working Capital
Financing
(b) Economic Order (ii) Receivable
Quantity Management
(¢) Commercial Paper (iii) Inventory
Management
Code:
(@ b (©
A) G @ (1)
B) @Gy G (@)
© @ Gy (i)
D) Gy @ 3G
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34. The conflicts in project ranking under NPV and
IRR methods in capital budgeting may arise because of
(A) size disparity
(B) cash flow disparity
(C) life disparity
(D) All of the above

35. The difference between spot rate and forward
rate is just enough to offset the difference between the
interest rates in the two countries. This concept is
known as

(A) Purchasing Power Parity
(B) Fisher Effect

(C) International Fisher Effect
(D) Interest Rate Parity

36. In investment decision, beta is associated with
(A) risk
(B) return
(C) risk and return
(D) None of the above

37. Conservative policy of working capital refers to
(i) low investment in current assets.
(i1) high investment in current assets.
(iii) frequent production stoppages.
(iv) financing working capital through short term
sources of finances.
(A) Only (i) is correct
(B) Only (ii) is correct
(C) (i1) and (iv) are correct
(D) (iii) and (iv) are correct

38. The yield to maturity of a bond is the interest rate

(A) that makes the present value of cash flow
receivable from owning the bond equal to
the price of the bond.

(B) that makes the total cash flow receivable
from owning the bond equal to the price of
the bond.

(C) that makes the total cash flow receivable
from the bond equal to the face value of the
bond.

(D) whataccruesif one buys the bond and sells
it before maturity.

X-10

34. SEREl ACSER NPV @3% IRR A&fore 2ies
BIERUERCaRE(CICERCER
(A) size disparity
(B) cash flow disparity
(C) life disparity
(D) €oIdd 703

35. Spot rate @3} Forward rate-43 #1195y ufb mexia
SR RIS #A1 LR TR AR &y AT, G2 (RN
REIEX

(A) Purchasing Power Parity
(B) Fisher Effect

(C) International Fisher Effect
(D) Interest Rate Parity

36. @R PACE Beta- o9&
A) 7= a3
(B) f5I <t =tre
(©) I 9= = (o @3k fOI)
(D) SRS @IIHE T

37. IRFF YELCER T AW T (RN
(i) BeIf =i 73 Ko

(i) BeIfe =it (@ f&fecmiat |

(iii) TTa« BV T |

(iv) FECEIW A T (A S LA

(e |

(A) @<Tg (i) T
(B) @<eIg (i) {5
(©) (i) 9% (iv) Teze 05
(D) (iii) 9% (iv) Tezg %

38. @3> AT sif7Fel T (Yield to Maturity)

(A) T (T AP AT 9 2Z 2l S
T 0 (Present Value) €38 0% AN
0 I8! I |

(B) I AT e W 2ol e F9% 2%
G3R 0T TG N AT S |

(C) T IS (AT Aol ToI 21T @92 00 1lie
SR S TSl A |

(D) I© T T4 @R ATl (Maturity)-7
el e (A sy 51|



39. Determination of forward rates is explained by
(A) uncovered interest arbitrage.
(B) purchasing power parity theory.
(C) demand and supply for spot currency.
(D) None of the above

40. Cash and carry arbitrage explains the
determination of
(A) forward rates for currencies.
(B) spot rates for currencies.
(C) both forward and spot rates for currencies.

(D) penalty for non-execution of forward
contracts.

41. The arithmetic mean and standard deviation of a
number of observations are 10 and 4 respectively. If 10
is added to each observation, the value of the coefficient
of variation (%) in the new set of values will be

(A) 10
(B) 20
©) 30
(D) 40

42. For perfect disagreement between two series of
ranks, the value of the rank correlation coefficient will
be

(A) +1
(B) -1
© 0

(D) 05

43. For a frequency distribution of a variable x, the
arithmetic mean is 32 and the median is 30. The nature
of the distribution is

(A) positively skewed
(B) negatively skewed
(C) symmetrical

(D) platykurtic

X-11
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39. Forward rate f4facad <t #itext T ¢
(A) uncovered interest arbitrage.
(B) purchasing power parity theory.
(C) demand and supply for spot currency.

(D) AT @IIHE 77

40. 7 @R T Arbitrage (A W@
e T ¢
(A) Forward rates for currencies
(B) Spot rates for currencies
(C) Both forward and spot rates for currencies

(D) Penalty for non-execution of forward
contracts

41. Foel WA WEF 9T € AT AL
(Standard Deviation) I 10 € 4 | T 2feT A2
(Observation -3 105 10 (191 1 2, O Tgel R foTa
Fg Coefficient of Variation-49 ¥« (%) 21

(A) 10
(B) 20
(©) 30
(D) 40

42. ﬂ“‘ﬁ/w % &M% (Perfect Disagreement)
U Series-93 (F(q T (FIREMIN 729197 3= 27
(A) +1
B) -1
© 0
(D) 05

43. x-5o1d I IR G TR ST
(arithmetic mean) W9 32 @3 TLNF N 30 | I6AHF
2@% (nature) 2@

(A) ©EWEa A (Positively skewed)
(B) W I (Negatively skewed)
(C) & (Symmetrical)

(D) 2= (Platykurtic)

[ Please Turn Over ]
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44. Suppose the events B and A are independent,
then the events A€ and B are
(A) dependent
(B) independent
(C) cannot be ascertained
(D) mutually exclusive

45. Sampling error arises
(A) only in sample survey.
(B) only in census.
(C) in both sample survey and census.
(D) None of the above

46. For testing the independence of two attributes
we use

(A) t-distribution
(B) normal distribution
(C) F-distribution
(D) Xz-distribution

47. Cross-sectional and longitudinal design are types
of

(A) causal research
(B) exploratory research

(C) descriptive research
(D) None of the above

48. Which data collection method is used in causal
research?

(A) Experiments
(B) Surveys

(C) Expert surveys
(D) Panels

X-12
44. 3= I B @3R A 76 FIE (Independent) 2655
(Event) | ©l2teT A @3t BC 23
(A) IGCERIGH (Dependent)
(B) F&= (Independent)
(C) v <=1l 3w =i
(D) #liifss f&fbzd (Mutually exclusive)

45, A= IR wel (Sampling error) (At T
(A) (@FIETG AT ACST (F6d (Sample
survey) |
(B) WWVPWN ST (F9 (Census) |
(C) Sample survey ‘€ Census TSR CF(4 |
(D) SAEE @G CF0q 77

46. 7o =MGRCEGT (F6a (Two attributes) SNSRI
BISEERE

(A) t-359 (t-distribution)

(B) 1w 25+1 (Normal distribution)
(C) F-3+ (F-distribution)

(D) FIB-CHRF 354 (y -distribution)

47. 2BENEE (Cross-sectional) @3z ¥
(longitudinal) SitzReN =] fFafer S0 2@ A 2

(A) PR (Causal) S0

(B) Sepralee< (Exploratory) %<4l
(C) IFqIEF (Descriptive) STCael
(D) €A (IR 7

48. IR (Causal) SITIRT (I O A& &S
JIZE T 2] ?

(A) AT T2 (Experiments)
(B) @il TR (Surveys)

(C) fareiaee 7S (Expert surveys)
(D) “IiesteT 73 (Panels)
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49. For the following statements of Assertion (A)
and Reason (R) indicates the correct codes:

Assertion (A) : When there is an evidence of
a linear relationship between
two variables, it may not
always mean an independent-
dependentrelationship between
two variables.

Reason (R)  : Thecausalrelationship between
the two variables may not
imply a reasonable theoretical
relationship between the two.

Codes:

(A) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

50. A researcher divides the population in different
parts and then fixes the numbers of units from each of
the parts that are to be included in the sample. The
method of sampling used by him is

51.

52,

(A) Stratified Random Sampling.
(B) Cluster Sampling.

(C) Quota Sampling.

(D) All of the above

are also called payment by results.

(A) Allowances

(B) Claims
(C) Incentives
(D) Fringe benefits

‘Bad work is better than no work’ is the essence

of Fayol’s Principle of

(A) Order

(B) Equity

(C) Espirit de corps
(D) Initiative

49. Giow ISl T [ (A) 92 IE (R)
@sT oz | ASS @Il Hize ww ¢
[RFe (A) ¢ 7t vera ey I ARSI
Qe el svexl ar, @a wie
TP @3 T @ WS
5% ufb e Wy (7l A |
e (R) ¢ Wi 5oTCa Wy PRI A= Gl
o 03 N @ ewa Wiy e
TGS TF AT |

(I 2

(A) (A) 93 (R) To3 03, (R) 71 (A)-7 Af6®
T |

(B) (A) 9k (R)Tenz i, 78 (R), (A)-a (5
R |

(©) (A) =, 8 (R) o |

(D) (A) T, 5% (R) A5 |

50. GG SITIF AP 519CF (Population) _feq
©IC5 ©19 T @R T (Sample) &y FowfeT 72!
7 Z@ 35 0w | O IS T “wfS 2@

(A) Stratified Random Sampling.
(B) Cluster Sampling.

(C) Quota Sampling.

(D) €oI(ad 7R

51. (P e = NG fofers emie |
(A) @hol (Allowances)
(B) Wi (Claims)
(C) TGS (Incentives)
(D) I Al (Fringe benefits)

52. e 1 I (B A e 1 O — @bl 28
Fayol’s Principle of |
(A) Order
(B) Equity
(C) Espirit de corps
(D) Initiative
[ Please Turn Over ]
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53. Which of the following is a ‘progressive-
regressive theory of motivation’?
(A) Maslow’s Need Theory
(B) Herzberg’s Two Factor Theory
(C) ERG Theory
(D) Valence-Expectancy Theory

54. Which one of the following is a feature of
McGregor’s Theory X?
(A) Workers enjoy responsibility.
(B) Workers view physical and mental effort
as a natural part of work.
(C) Workers like to show initiative.
(D) Workers like to be directed.

55. The communication in informal organisation is
known as
(A) Written communication
(B) Grapevine
(C) Pictorial communication
(D) Kinesics

56. Corporate Governance is a form of
(A) External regulation
(B) Self-regulation
(C) Government control
(D) Charitable action

57. What is meant by 360 degree appraisal?

(A) A system where line managers rate
subordinates simultaneously.

(B) A system where every employee rates
another employee chosen at random.

(C) A system where a senior manager rates all
line managers simultaneously.

(D) A system where feedback is obtained from
peers, subordinates and supervisors.

X-14

53. 59 (M ‘progressive-regressive theory of
motivation’?
(A) Maslow’s Need Theory
(B) Herzberg’s Two Factor Theory
(C) ERG Theory
(D) Valence-Expectancy Theory

54. Spd @0 McGregor-43 ‘Theory X'-43 4o
gy
(A) =1 wiftrg Toltelsl 36 |
(B) @1 #AF ¢ WAPE ABHE IS
Frelie s BT (e |
(C) Tl Bragie (TS %W (A |
(D) 1 o (oIS 7w S |

55. wif<fe<q@ (Informal) 2fSiea @eN@s @S
(SR
(A) TTRRe et (Written communication)
(B) Grapevine
(C) Tow@us @siicast (Pictorial communication)
(D) Kinesics

56. FCACED ST T6 GFIERAER
(A) IfZ 7@ (external regulation)
(B) =1 fevzragel (self-regulation)
(C) == @@l (government control)
(D) W<y ¥ (charitable action)

57. 360 Tofa sErRe JeTce F @R ?
(A) aft @G 2Mafs @2 2 Mt @53
N TG FAE [T I |
(B) @t @ *&fe @A 2teF FH o=
R FHR2 FERA G |
(C) @b «=( *Im @ GG PIfwR icTens
G AR HIE IR SIS TR A |
(D) @ft @afo “afe @AE 725, wHET @
T SR L (AT SO (7eT 27 |
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58. For the following statements of Assertion (A)
and Reason (R) indicate the correct code:

Assertion (A) : Workers participation in
management is involvement of
workers only in such areas of
activities of the enterprises,
where they can make any
positive contribution.

Reason (R) : Workers may not be competent
enough to understand and
appreciate the managerial
aspects of the enterprise.

Codes:

(A) Both (A) and (R) are correct, but (R) is not
the right explanation of (A).

(B) Both (A) and (R) are correct and (R) is the
right explanation of (A).

(C) (A)is correct, but (R) is incorrect.
(D) Both (A) and (R) are incorrect.

59. How many factors were identified by Pettigrew
and Whipp to manage successful change?
(A) Four
(B) Three
(C) Five
(D) Six

60. Who was the first to describe the ‘fight or flight’
response in stress management?
(A) Walter B Cannon
(B) Sigmund Freud
(C) Atkinson Potter
(D) E.B. Flippo

61. SIDBI provides financial assistance in the
following forms:

(i) Bills financing
(i1) Project financing
(iii) Re-finance assistance
(iv) Resource support to institutions
Which of the following sequence is correct?
(A) (), (iii), (iv) and (ii)
(B) (in), (iv), (1) and (iii)
(C) (iii), (1), (iv) and (ii)
(D) (@v), (@), (iii) and (ii)

06-11
58. s IesleE T [0 (A) 98 IE (R)
@sT oz | ASS @Il Hize ww ¢

e (A) ¢ ¥RS@e G w22 2+

AfSVITT (12 ANS FIACTH@

wfiema Tive 267 @AE 9kl

(@I BfSABF SmI A4S A |

s aAfoRie ameme fen s

(AR IR TAZ S Sy #3541
[T @9 ME 2(© AT |

3Jf& (R)

(PIGTYZ

(A) (A) @22 (R) Texz 7, 8 (R)-7 7w
AT (A) T

(B) (A) @<k (R) Tewg AGF ak (R) Z& (A)-F
A A |

(©) (A) Ao, 58 (R) w1 |

(D) (A) €<% (R) TG e |

59. 15 2SR ToAR eI Pettigrew €3 Whipp
Foufer Tomia Hize scafeEm ¢
(A) vl

(B) foa®
(C) =5
(D) =l

60. CZIICTSTTo-99 (g “fight or flight” effsferara
9| FA (F AR ?
(A) Walter B Cannon
(B) Sigmund Freud
(C) Atkinson Potter
(D) E. B. Flippo

61. SIDBI fsferiiwei wifdT FRre! I |
(i) Bills financing
(ii) Project financing
(i11) Re-finance assistance
(iv) Resource support to institutions

e @I S AT 2
(A) (1), (iii), (iv) @GR (ii)
(B) (i), (iv), (1) @R (iii)
(C) (@i1), (1), (iv) 4R (i1)
(D) @1v), (1), (ii1) 9 (ii)
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62. As per the RBI’s clean note policy, writing on a
currency note is
(A) an offence
(B) acrime
(C) apunishable offence
(D) the notes become non-legal tender

63. Generally the following are the important items
appearing on the assets side of the Balance Sheet of a
commercial bank:

(i) Cash in hand
(i) Bills discounted
(iii)) Money at call and short notice
(iv) Loans and advances
(v) Investments
Which of the following sequence is correct in
the order of liquidity?
(A) (), (i), (iv), (iii) and (v)
B) (@), (i), (i), (v) and (iv)
(C) (i), (iv), (iii), (i) and (v)
(D) (ii), (iv), (i1), (v) and (1)

64. Life insurance is a contract of which one of the
following?
(A) Indemnity
(B) Guarantee
(C) Contribution
(D) Subrogation

65. Which two of the following are not money
market instruments?

(i) Global Depository Receipts

(ii) Participatory Certificates
(iii) Warrants
(iv) Treasury Bills

(A) (1) and (iv)

(B) (i) and (ii)

(C) () and (iii)

(D) (iii) and (iv)

X-16

62. SITOR &S TRF-GF Size SR G 9o
(SRl
(A) 91T (offence)
(B) 99114 (crime)
(C) =IRecI5 S+ (punishable offence)
(D) TRAfTCss w-foreliet (Foie fRria &1l =

63. @6l Afafers WEa Tasoag wifen s
gl SREISTE T4 ¢
(1) Cash in hand
(i1) Bills discounted
(iii)) Money at call and short notice
(iv) Loans and advances
(v) Investments

OIFE SR AGA SEASEAR W& (0]
Ao 2

(A) (), (i1), (iv), (iil) @R (v)
B) @), (i), (1), (v) 9R (iv)
(C) (i), (iv), (iii), (1) 9=R (V)
(D) (ii), (iv), (i), (v) @R (i)

64. 5 e P N T2 AP (I LR
e
(A) Indemnity
(B) Guarantee
(C) Contribution
(D) Subrogation

65. BT @ 76 =NfF AeiEd ToiFel (Money
Market Instrument) <3 ?
(i) Global Depository Receipts

(i1) Participatory Certificates

(i11) Warrants

(iv) Treasury Bills
(A) (1) 9K (iv)
B) (1) 93K (ii)
(©) (1) 9= (iii)
(D) (iii) @R (iv)



66. The Securities and Exchange Board of India is
not entrusted with the function of

(A) Investor Protection.

(B) Ensuring Fair Practices by companies.

(C) Promotion of efficient services by brokers.

(D) Improving the earnings of equity
shareholders.

67. Direct supervision over depositories is
undertaken by
(A) NBFC
(B) RBI
(C) SEBI
(D) All of the above

68. Which of the following statements represent the
effect of the increase in the repo rate?

(A) The money supply in the country will
decrease.

(B) The money supply in the country will
increase.

(C) The money supply will increase initially
and then decrease.

(D) There is no effect on the money supply in
the country.

69. Narshimham Committee was related to which
of the following reforms?

(A) Higher education reforms

(B) Tax structure reforms

(C) Banking structure reforms

(D) Planning implementation reforms

70. Know Your Customer (KYC)normsarerequired
to be strictly followed by banks. It means

(A) providing improved customer services.

(B) determining the identity and residence
proof of account holders through approved
documents.

(C) ensuring that staff members know the
customers.

(D) organising regular customer service
meetings.

X-17
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66. @ I Securities and Exchange Board of
India-3 €717 Wf+fe 73, ©f 25
(A) FRFIT 75 |
(B) @ iifqa iy SIeAier (Fair Practice)
faf*oe a1
(C) @FREMI 7F | TR ARE@I amix
oy 41 |
(D) T IR SRS SR oA 41 |

67. TCCAPTR T dors TR AlH?
(A) NBFC
(B) RBI
(C) SEBI
(D) €Iad 708

68. w3 @in IR el (& e e ==ifFs 2
(A) (0% S (Il A |
(B) e*t =1efF (sl AT |
(C) S (SN 2T ATCH, I FAA |
(D) 7C¥! SIS (ST L (P TS (72 |

69. TaFREI D M @I AT AL TS 2
(A) TEofrwg A
(B) 9 IR ACH
(C) TRRR PN AH
(D) ~Afs<raen wsiime A=

70. A=A #AfF0® (KYC) 2AE G0 FRIJSENNE
g T FERSIE AwCe 2| 97 5L

(A) 2 TS HAfKEA orew |

(B) SII7e R 0a9 AR SIS @IS
259 @ IS A w7 |

(C) Tl AT AT AAE Tce 2MF ©f
Affe w1 |

(D) eI AzF CRRES el SFe
41 |
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71. What are the four main components of holistic
marketing?

(A) Integrated marketing, Internal marketing,
Product positioning and Performance
marketing

(B) Integrated marketing, Relationship
marketing, Social responsible marketing
and Performance marketing

(C) Integrated marketing, Relationship
marketing, Internal marketing and
Performance marketing

(D) Integrated marketing, Relationship
marketing, Social responsible marketing
and Internal marketing

72. Match the items of List-I with the items of
List-1I and denote the code of correct matching:

List-1 List-11
(a) Basic product (1) Set of attributes
and conditions
buyers normally
expect
(b) Expected product (i1) Possible
augmentation and
transformation the
product might
undergo in future
(c) Augmented product (iii) Exceed customer
expectations
(d) Potential product (iv) Converting core
benefits into
product

Code:

@ M () (@
(A) Gi) @Gv) @) (D)
B) @ ) av) ()
© @ av) @) 3G
D) Gv) @) G (i)

X-18

71. AEF R SR o1 Somie F 2

(A) e Q92199 (Integrated marketing),
wrer@ae faie (Internal marketing ), 2104
szl @diqe (Product positioning) @3
=i A9 (Performance marketing) |

(B) wfee fJote (Integrated marketing),
7% fa7le (Relationship marketing),
e wiREm Kol (Social responsible
marketing) @3 A=A fqotae
(Performance marketing) |

(C) e 7o (Integrated marketing),ﬂ“?i?f
{914« (Relationship marketing ), STrer@sie
9o (Internal marketing) @3% =7«
A%1e (Performance marketing) |

(D) fge fa9i9s (Integrated marketing),
7=9& 37l (Relationship marketing),
s wiREm [l (Social responsible
marketing) @3 Sirergdtel f9ie (Internal
marketing) |

72. IRl 932 O)fersnr I1-93 3R Niew o
ARSI AGIE (e’ N T ¢
@Ifare-1 IUGEIAIE

(a) (NferF (Basic) 217 (i) (ol MaFe @
YA G2 M

@15 I e

(b) 2onf*rs (Expected) (i) teid SRyces TRy
A Iz @ oired

(c) AfFS (Augmented) (iii) 22 Ao STioTw
Aol el

(d) B (Potential)  (iv) &1 APl
“Aely ATl oA
(T 8

(@ (b (© (@
A) @) @v) @ 3>
B) @ @G @Gv) (G
© @ Gv) @) o (D)
D) Gv) @O @) (1)



73. isavirtual market where transactions
take place.

(A) Market place
(B) Market space
(C) Meta market
(D) None of the above

74. Determine the correct sequence of stages in the
price setting process:

(1) Determine demand

(i) Evaluate Pricing method

(iii) Setting Pricing objectives

(iv) Analysing competitors pricing

(v) Estimating costs

(vi) Selection of Pricing method
(A) (iiD), (1), (v), @v), (i), (vi)
(B) (i), (@), (i), (@), (v), (vi)
(©) (i), (i), (1), (v), (vi), (iv)
(D) (i), (iid), (@), (iv), (v), (Vi)

75. Brands that meet consumer’s initial buying
criteria are called the

(A) total set

(B) awareness set
(C) consideration set
(D) choice set

76. Under selective specialisation of targeting, a
firm specialises in
(A) aparticular productin a particular market.
(B) all products in a particular market.
(C) aparticular product in all markets.
(D) only one product.
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73. O3b SHAA ST @A G
ARolfes 23 |
(A) e =
(B) s ¢ (space)
(C) (B! (meta) eI
(D) €A @Il TaE AT 77

74. 7w e i sasle wBe o e
P

(i) vifzw fefze st

(i) -sIEwoR JER 1

(i) W e o g st

(iv) efscaidios v Rese i

(v) dA0EF SN 4

(vi) W-oiafs Sioe s
(A) (iii), (1), (v), (iv), (i1), (vi)
(B) (iii), (1), (i), (iv), (v), (vi)
(©) (), (iid), (1), (v), (vi), (iv)
(D) (i), (iii), (1), (iv), (v), (Vi)

75. @ WO (ST AN FERE Aawe 579
St A |

(A) g @16 (total set)

(B) AGOTOIF (PG (awareness set)
(C) fACAe=1F (6 (consideration set)
(D) #=¥d (6 (choice set)

76. SRR G e, Fibe i@ (selective
specialisation) si&fere «@afs T feaifrs s

(A) @ e A «Ff Wi sty
(B) @5 FifWe i 75 oy

(C) e ISR G0 7S 7ol

(D) Y@ 9FH oo
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77. For the following statements of Assertion (A)
and Reason (R) indicates the correct code:

Assertion (A) : During the introduction stage,
marketing and promotion are at
a high and the company often
invests the most in promoting
the product and getting it into
the hands of consumers.

Reason (R) : The principal goal of the
introduction stage are to build
demand for the product and get
it into the hands of consumers,
hoping to later cash in on its
growing popularity.

Codes:
(A) Both (A) and (R) are correct and (R) is

correct explanation of the assertion
statement.

(B) Both (A) and (R) are correct and (R) is not
the correct explanation of the assertion
statement.

(C) Both (A) and (R) are incorrect.
(D) (A) is correct and (R) is incorrect.

78. Match between List-1 and List-1I to select the
correct combination using the codes given below:
List-1 List-11
(a) Face to face interaction (i) Sales promotion
with one or more
prospective purchasers

(b) Any paid form of
non-personal promotion

(i) Public relations

(c) Short-term incentives (iii) Personal selling
to encourage purchase
(d) Programmes to
promote company’s
image
Code:

(@ b © @
A) @) Gv) (@) (@)
B) @) Gv) (@) aG)
© G @@ G (Gv)
D) @Gy (@) @ (1)

(iv) Advertising

77. diow ISl T [0 (A) @2 IE (R)

el Wiz | 7S el iz o ¢

RS (A) ¢ #r Gemeed bl o/,
ol @R 2p T AE A
@R @A 2o &bl @)
(SIS 20O A 9T (TSI &)
FeC @ Rfeciel F3 |

IE(R) ¢ ARG ARDS o 2w
o 28 A bifEnl Cofd T «3g
ATISICS G FIALN GO
e MR (OIS TS 9
e |

(FICTYZ ¢

(A) (A) @3 (R) Tew3 555, @32 (R) =& (A)-7
AT A |

(B) (A) @R (R) T2 %, % (R), (A)-T 7<%
P T |

(C) (A) @3% (R) Toz2 T |

(D) (A) 115, 7€ (R) goT |

78. ©iferl €32 ©fFR-1-a9 W&y e @ @

(TS IR A ATGF TN 15w e ¢
a1 UGEaAI
(a) @ A GHEF MG (i) REw =R
(TSI A AR (Sales promotion)
5w (interaction)

(b) 9L 71 Wi @@ (i) T
I-feare 254 (Public relations)
(c) T vz FF & (iii) Ifere [aw
AT SAZ Wi
(d) @r=iifia oS Tt (iv) w@is
FAK Gy (Al (Advertising)
g Eg
@ @b © @
(A) (i) (v) (1) (@)
B) i) av) @  >)
© Gy @ 3D Gv)
(D) @Gy Gy @@ 3>Gv)

(Personal selling)
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79. The most important retail marketing decision, a
retailer has to make, is to
(A) select the product assortment.
(B) identify its target market.
(C) choose the desired service level.
(D) develop an effective store atmosphere.

80. A customer is said to be delighted with the
product when
(A) Perceived value = Received value
(B) Perceived value < Received value
(C) Perceived value > Received value
(D) None of the above

81. An agreement made without consideration is
(A) valid
(B) illegal
(C) voidable
(D) void

82. Which of the following is correct?

(A) Consideration may be past, present, but
not future.

(B) A contract is void if the consideration is
inadequate.

(C) Natural love and affection is not an
exception to consideration as an essential
condition.

(D) A stranger to contract can enforce the
contract.

83. ‘Goods’ within the meaning of Section 2(7) of
the Sale of Goods Act, 1930 includes

(A) actionable claim(s)
(B) money

(C) Both (A) and (B)
(D) Neither (A) nor (B)
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79. e Y501 Rl Yo RetetT= &) SRR
Q@ wwFgs)l Prale fire =—
(A) 2% ST (assortment) 46 1
(B) Sitsfb-arens fofere w1
(C) iz ARl wa v w1

(D) @6 FIFT @FIF-AT@ (store
atmosphere) R 71

80. OFG 2l[2F A & ST (delighted with the
product) T I

(A) WTg© A« (Perceived value) = &g i
(Received value)

(B) WJg© WA (Perceived value) < &i€ i
(Received value)

(C) IJg© 4 (Perceived value) > &€ i
(Received value)

(D) AR (@I RwE AT 7

81. aAfewwiRe pfe 2o
(A) @«
(B) (SRl
(C) A=ty
(D) <ifesT

82. Npa AT Wy @A Afdw 2
(A) =ifui SrSIte 20 #AITE, IS 20o I,

e efkarce 2o~ 1|

(B) 3 ey wivifiel 23, O3 @51 pfe aifest
A

(C) FreIfFss SIGIRPT @ (2 2fenia Sz
I e foww 971

(D) TS @I O3 ARG 7% pie b @18
FACS AN |

83. Sale of Goods Act, 1930-43 2(7) <R SIS
‘Goods’ IET09 ([RT—

(A) IS Wi

(B) =i

(©) (A)'¢ (B) Teg

(D) (A) € (B) @IIGE 77
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84. The Statutory Auditors of the company are
appointed by
(A) shareholders in Annual General Meeting.
(B) Board of Directors.
(C) Company Law Board.
(D) Central Government.

85. Name of a company can be changed by
(A) an ordinary resolution.
(B) a special resolution.
(C) an approval of the Central Government.

(D) a special resolution and with approval of
the Central Government.

86. What type of cyber-crimes are covered under
section 66 of the Indian Information Technology Act,
2000?

(A) Putting antivirus into the victim’s system
(B) Cracking orillegally hack into any system
(C) Stealing data

(D) Stealing hardware components

87. Which of the following does not come under
the definition of ‘information’ as per the Right to
Information Act (RTI Act), 2005?

(A) Log books

(B) Data material held in electronic form
(C) File noting

(D) Circular

88. Which section of the Competition Act, 2002
deals with the selection for chairperson and members
of Competition Commission of India?

(A) Section 12
(B) Section 9

(C) Section 14
(D) Section 20

X-22

84. @i ffes s e s
(A) ARF AP TR
(B) oAfamieremesat
(C) =i & @e
(D) FET ATHI

85. IeIR ¢ @ =iifg TN ~IfFse a1 T2
(A) TSR Al Pras
(B) o Reeix Praics
(O) IR AR e (e ACATH
(D) o R Praite R @FuE FHIET
S HCATE ToTR

86. Indian Information Technology Act, 2000-4<
LIl 66 SR AT G2 @02

(A) oo e FATHIE SNf6-Sizam I
4l

(B) Cracking fal (Fezfeid S~ITo17 2715
S

(C) w2y b =1 |
(D) GSIA ToAMITTE B F41 |

87. 53 &I Ri ghtto Information Act (RTI Act),
2005 S 92 (Information)-43 M TGS 3 2
(A) &9 3%
(B) Cuyfen e afEFe w2 SEa
(C) =izet (ifte
(D) et

88. Competition Act, 2002-93 (¥ AR S
Competition Commission of India-¥ (G @ FW(y

foion <t =32
(A) =112
(B) 419
(C) 4t 14
(D) i1 20



89. The term ‘Intellectual Property Rights’ relates
to:
(A) Copyrights
(B) Know-how
(C) Trade dress
(D) All of the above

90. Which is a ‘Promissory Note’?

(A) TIpromisetopay ‘B’ 500 and to deliver to
him my black horse on 1st January next.

(B) Ipromisetopay ‘B’ 500 seven days after
my marriage with ‘C’.

(C) I acknowledge myself to be indebted to
‘B’ for ¥ 1,000, to be paid on demand for
value received.

(D) I promise to pay ‘B’ ¥ 500 on D’s death,
provided ‘D’ leaves me enough to pay that
sum.

91. Which of the following two statements are not
characteristics relating to Tax Management?

(i) Planningforinvestmentsin schemes specified
u/s 80 C and 80 CCD

(i) Calculating the tax payable amount under
section 115 BAC (new tax regime)

(iii) Filing of returns in proper time
(iv) Payment of Advance Taxes and Self
Assessment Taxes
(A) (i) and (i)
(B) (iii) and (iv)
(C) (ii) and (iii)
(D) (1) and (iv)

X-23

06-11
89. 173t ‘Intellectual Property Rights” 2ife=is
e 2
(A) FiED

(B) Know-how
(C) Trade dress
(D) €AEd FAwRE

90. 2P @5 FeTCe F @RI 2

(A) 151 Gt =ifsl ‘B’ (& T 500 avie Fh00
IR M Fe @l i s afswias
2T |

(B) ‘C’-«a3 AN N [ Ao W =+
‘B’-F T 500 Tt afosea 2@ |

(C) @ T ARl a2el AR, O &y el g
‘B*- T 1,000 Brrl frce e itz F1g©
et |

(D) D-93 iR #= =S ‘B - T 500 Gl &Aviel
F4ce 2fsesas v T D’ SIS €3 o
A 1 T 2 ifsiiel s frca e

91. ke gfowler e @Ryl SR Al
e (AR T e
(i) 80 C @32 80 CCD =y e Fwefre
fecices oifsss w1

(i) 41 115 BAC (g ¥4 AT THI) A0
F3 AT et T
(iii) T A TOR Piza w1
(iv) SIEs 7 @I F-E0IE T3 o 2mis
(A) (i) 93 (i)
(B) (iii) 93% (iv)
(C) (ii) @R (iii)
(D) (i) 93% (iv)
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92. For the following statements of Assertion (A)
and Reasoning (R) indicate the correct code:

Assertion (A) : Depreciation allowance under

section 32 of the Income Tax
Act is not allowed for a
machinery which is held by the
assessee as a lessee.

Reasoning (R): The primary condition for

allowing depreciation is that
the asset must be owned by
the assessee during the
relevant previous year.

Codes:

(A) Both Assertion (A) and Reasoning (R)
are correct, but (R) does not offer full
explanation for (A).

(B) Assertion (A) and Reasoning (R) both are
wrong.

(C) Assertion (A) is correct, but (R) is wrong.

(D) Both (A) and (R) are correct and (R) offer
full explanation for (A).

93. Which of the following two statements are
correct for Double Taxation Avoidance Agreements
(DTAA)?

(i) Theprovisionsof DTAA override the general
provisions of taxing statute of a particular
country.

(i) An assessee has an option of choosing to be
governed either by the provisions of a particular
DTAA or the provisions of the Income Tax
Act, whichever is more beneficial.

(iii)) Comprehensive DTAAs are those which do
notcover almost all types of incomes covered
by any model convention.

(iv) TheDTAA isnotabilateral agreemententered
into between two countries.

(A) (i) and (iv)
(B) (i) and (iii)
(C) (i) and (iv)
(D) (i) and (ii)

94. A business of a company commenced on
Ist March, 2019 and earned ¥ 10 crore profit in the
same month. In which Assessment Year will the
company be assessed for this income?

(A) 2018-19
(B) 2019-20
(C) 2020-21
(D) 2021-22
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92. ivw ISl T [ (A) @8 IE (R)
@sT oz | A5S @Il Hee ww ¢
RIE(A) 2 STFA AR 32 R Sadd
(T 32) SR SRR Ol
=i =Rl TR Rea Aew
TR &y Seeive 77 |
& (R) ¢ @F T ST ©iel e
AT =ST 2o TG w==2
AFIST qRCAT ANT SHICAF
TR 2o 2d |

Wg

(A) RIFE(A) 9=R I (R) Tz A3 @ (R)
TN (A)-GF W R |

(B) R3f®(A) ¢ & (R) Tog gal |

(C) [AFfe (A) Aow o e (R) T

(D) RIF(A) @R I (R) Tor@mz AT 93k (R)
Q3R (A)-3 S T5)ef 1T RN |

93. T GIFEPI U §ied (DTAA) &
e Ryfea st @m gt w2
(i) DTAA-9F Rume@ @ GMe @i 59
IR AR RS eeRiEe 3 |
(ii) SO DTAA-R R =il sififers 2ca =i
e Geaia Saa izs @il Sifvifere 2@,
2 smfs e @0z H s i |
(iii) Comprehensive DTAA 21 [l (SIS AT
FACI R S0 AT FE LT SR
BISERRIGIIN
(iv) DTAA I {6 (0 e @i pie 7131 |
(A) (i) 93 (iv)
(B) (i) @3 (iii)
(C) (ii) @R (iv)
(D) (i) €3 (ii)

94. @3 @i T e wF T @
1371 S, 2019 ANET | 3G AET @A G2 JPT1 (A0S
10 @I BiFl #1® S| (&FI9 Assessment Year-4 @3
@T"?ﬁﬁ?{mm BERIEIGK

(A) 2018-19
(B) 2019-20
(C) 2020-21
(D) 2021-22



95. Expenditure on free meals to employees in
excess of ¥ per meal will be treated as
perquisite of employee under the Income Tax Act.

(A) %75
(B) 100
(©) %60
(D) 50

96. Match the Column A with Column B and select
the correct code:

Column A Column B

(a) TDS from salary (i) Voluntary Return

(b) An Income Tax Return (ii) MAT under
which is not filed within section 115JB
the time allowed under
Section 139 (1)

(c) A company/firm is
required to file its
return of income or
loss

(d) A Domestic Company (iv) Belated Return
has to pay tax
@18:5% on Book
Profit or tax @25%

(if opted for section
115BA) whichever
is higher
Code:

@ O © @
@A) @) @Gv) @ (>
B) G @G Gv) @)
© Gv) @) @) @)
D) @) ) @ ()

(iii)) To be executed by
employer under
section 192

97. Advance Tax shall be payable during a financial
year only when the amount of such Advance Tax
payable by the assessee during that year is

(A) 10,000 or more
(B) 50,000 or more
(C) % 1,00,000 or more
(D) ¥ 10,00,000 or more
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95, LI Gy R <Icaa 2 A < 2ffe

TP @ 23 SR GIi SR S
‘Perquisite’ P ICRRIGIDSEST
(A) 75
(B) T 100
(C) T 60
(D) %50

96. ©IfeTIA 93] ©IferRel B-43 W& Flerrae R (I
S S Teq i e ¢
Ol A
(a) (IO (AT T 4

©Ifer# B

(i) cx=¥ (Voluntary
Return) &I
(b) &% oTFa O @ (1) MATER™115)B
Gl 139 (1)-493
SR SIS FANE
T WIS 41 =
2% Assessment
Year-43 14 S0icst
ARG (1R 28T
T MR 41 QR
(c) O A wiog AAfase
SR @ @it
3} P SIERd {5
wife 00 W
(d) &b Domestic Company (iv) Belated Return
-@& Book Profit-dd Toid
18-5 *©i¥ 9| 25
I HTFT (CTFHI
115BA S, @&
eI ani S90S 2@
CWQ? 3
@ @ © @
(A) (i) @Gv) @) (@D
B) () G Gv) @
©) Gv) G @i @)
(D) @Gi) @G) G (Gv)

97. e 57 6 NS TRF 2MICRI 20, (TR
e (12 AT IR0 N SOl B AW G T
FEF S =@

(A) 10,000 5P A ©F @R
(B) 50,000 Bi<l <t @i (I
(C) 1,00,000 51! A1 ©iF &
(D) 10,00,000 G=F Al ©F @M
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98. Which two of the following conditions are not
valid for two enterprises to be deemed to be ‘ Associated
Enterprises’ for the purpose of applicability of ‘Arm’s
Length Price’ for taxation of international transactions?
(i) One enterprise holds (directly or indirectly)
shares carrying not more than 26% of voting

power in the other enterprise.

(i) A loan advanced by one enterprise to the
other enterprise constitutes not less than 51%
of the book value of the total assets of the
enterprise.

(iii) Oneenterprise guarantees not less than 5% of
the total borrowings of the other enterprise.

(iv) 90% or more of the raw materials and
consumables required for the manufacture or
processing of goods or articles carried out by
one enterprise are supplied by the other
enterprise.

(A) (1) and (iv)
(B) (i) and (iii)
(C) (ii) and (iv)
(D) (ii) and (iii)

99. Which of the following combination of sections
of Income Tax Act is not taken into consideration by
the employer during deduction of tax from salaries of
employees?

(A) 80C, 80CCD, 80D, 80TTA
(B) 80C, 80CCD, 80G, 80TTA
(C) 80C, 80CCC, 80GG, 80TTA
(D) 80C, 80CCC, 80D, 80E

100. Which one of the following cannot be claimed
for deduction under section 80C of the Income Tax
Act?

(A) Subscription to National Savings
Certificate (NSC)

(B) Subscription to Kishan Vikas Patra (KVP)

(C) Sum deposited in Sukanya Samriddhi
Account

(D) Contribution to Public Provident Fund (PPF)
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98. TS e Arm’s Length Price-a3 2@
e 4o STICeR A “ Associated Enterprise’ RO
e ez ooy fsfifis *Sefera e @m 76 @
T2

(i) 93 G2 (2eFF | TAGTFOIE) T
T GOIRRARE 26 ORI @ SitwiER
el ACH|

(i) @30 GTHRT SNEFFH GoRARETE T @
Yo ez (b (13 @oaiEE @5 F=ima
ferfe eema 51 Wwikee T 77|

(iii) @ GoFRE wEFH GoRARE @b
AT 5 * ISR @M SIS R |

(iv) 936 GO Terive a1 2fEeees e
AEEAT FIHIE @ T srsiaaanafas
90 *SI* 31 OI (JfI B T BIK2 RS FRAR |

(A) (1) 9R (iv)
B) () @9 (iii)
(C) (1) @R (iv)
(D) (i1) 9<R (ii1)

99, T ([O (AF I AN METR 7 fFfeifie
ResiE @ 7Rl Faeess o [wa s
Tfoe e

(A) 80C, 80CCD, 80D, 80TTA
(B) 80C, 80CCD, 80G, 80TTA
(C) 80C, 80CCC, 80GG, 80TTA
(D) 80C, 80CCC, 80D, 80E

100. TR @G w7 W2E 80C 4T 2
) (9 N 2

(A) TSR AR *79G
(B) f&ai et #fg

(C) 11 Fff el
(D) 7RG 2RFES FIe
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